(6x3 —x? =5x+5)+ (2x—1) 9] & a, YHAE bt & of =
. = ) Eb (\221'.- =
-~ X | ,a+b=

2
®3x+x+1 @ x2+x+1 ® 3x2+1

@ x®+x-1 ® 3x2+x

A o]l 851H a=3x2+x-2,b=3
Ca+b=32+x+1

B \

AR EARS




T4 % -3x-32 A 22 - 2x - 12 Wegle m o] Kol ax+b
o|al, A7} ex + d oIt ol W, a+ b+ ¢+ d 2] 427

@ 1 @ 2 ® 3 @)4 ® 5

B ~

¥ -3x-3=(x*-2x-1)(ax+b)+cx+d

AA AE vlastd
a=1,-b+d=-3,-a—-2b+c=-3,b—2a=0
AN a=1,b=2,d=-1,c=2
“a+b+c+d=1+24+(-1)+2=4




3. B+ 2E T 2+ 2x- 12 YRGS 19 &S o(x) UHAE
R(x)2F & o, O(x) + R(x) 2] 3t2?

® 2x-3 @ 2x @ 3x+2
@4x ® 4x+1

B+ +2E P+ -1 Y UFd
O(x)=x-1, R(x) =3x+1
Q)+ R(x) = 4x




X2 +2y%) = 2(y? - 3x?%) = 7x?

(

(

(x +y)% = x% + 3x%y + 3xy? +?
(x+y+2)2 =x2+y*>+ 22+ 2xy + 2yz7 + 2zx
(

Brl)s(x+1)=x2-x+1

© 4x-2)+(7-2x)=2x+5




D
=
_l’_
g

e
o
=
Q
S8
H
o
ne
£
L
oo
of
oX
i)
ol
ol
rr

- x_Y
@ x=y @a b

(a® 4+ b?)(x* +y?) — (ax + by)? = 0=

25| st

a®y? + b?x® — 2abxy = 0
=, (ay—bx)2 =0
“ay—bx=0(. a, x, b,

y
wEbA, gy = bx oAl 2 = %




e A AT A F §L AL 12w
@ x_y_z)2:x2_y2_z2_2xy+2yz_2zx
@ (3x - 2y)? = 27x% — 54x2y + 18xy? — 8y°

®

x2 = 2xy + 2y?) (% + 2xy + 2y%) = x* + 4*

° ®

(
(
(x+ ) (x=9) (¥ +xy = y*) (8 = xy +y?) = 1 = y”
(
(

x+y-1)(2+y?—xy+2x+2y+1) =x3+y3 - 3xy -1

B

@ (x—y-2)2=x2+y2+22 - 2xy+ 297 — 2zx
@ (3x —2y)3 = 27x% — 54x?y + 36xy% — 83
@ (x+y)(x=y)(F + xy +¥*)(¥* = xy +°)

— X6 _yb
O x+y-1)*P+y*-xy+x+y+1)
33 3




@ (x-a)(x=b)(x~c)
=x3—(a+b+c)x® + (ab + bc + ca)x — abc
1
@ Slla=b?+(b-c)*+(c-a)?)
=a?+b>+c*—ab-bc—ca
@(a+b+c)2:a2+b2+c2+2ab+2bc+20a
@ (x+a)(x+b)(x+c)
= x>+ (a+ b+ c)x*> + (ab + bc + ca)x + abc

® (a+b+c)(a®+ b* + c® —ab — bc — ca)
=a® + b3 + ¢ — 3abc

B

e EEEE B EER RS
247} a, b, c2} oA tzbae] Zol

Va2 + b2 + 2 =28

L+ b +cP=28%-.9

E, 2= BAE ] ol 2 1760 2=

4(a+b+c) =176

“at+b+c=44---©

o ul, 14 o] U OIE 2(ab + be + ca) O 22
(a+b+c)?=a*+b?>+c?+2(ab+bc+ca)---©
etd @, ©= ©°f HYste] 2EelE F5h4d 115201




a+b+c=1, ab+bc+ca=1, abc =1L 4], a3+ b3+ 3 2] F27?

® 3 @-3 OGn @ ®

Wl
NeB i

B )

(a+b+c)?=a*+b?+c?+2(ab + be + ca)
l=a®+b>+c*+2

L @A e =l

a® + b3 + ¢3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc - ca)
A+ +3-3=1-(-1-1)=-2

LA+ =1




9.

A a,b,col st a+b+c=6,a? +b* + % =128 4S5

a®+b° + ¢ 2 e Fsha?

@ 8 @ 16 @24 @ 36 ® 42

B

FA @+ b+ = (a+b+c)?-2(ab+ bc + ca) ol FoIH
45 st

(ab + be + ca) &) F-2 F-SHH (ab + be + ca) = 12

a® + b3 + ¢ = 3abc = (a+ b+ ¢)(a* + b*> + ¢* — ab — bc — ca)
oA

a’>+b?>+c?—ab-bc-ca=00E=2

1

5 (@=b2+(b-c+(c-a)?} =0
ca=b=c=20°1B2 B +b+c=2




10, x o Het B4 A = 2% + 5% + 4 & HIA B 2 Hs 1, K&l
| * B ?

2+ 1 013, X7} ~6x 42 o]k, o] v, Tk B 2 ot
@x2+2x—|—2 @ x24+x+2 ® x2—x+2
@ x2-2x+2 ® x2-3x+2

B )

A= B(2x+1)—6x+2 oA

B(2x +1) = 2x® + 5x% + 6x + 2

S B=(2x3+5x2 +6x+2) + (2x+ 1)
=x?+2x+2




11. 9dA A =28 -7 -4 5 04 B 2 = o, %] 2x -1,
UHAZF ~7x - 2 o}, B4 B=ax® + bx+c L W, a® + b + ¢
o] gh2?

@ 3 @ 6 ® 9 @14 ® 17

B \

A=2x3-7x>-4=B(2x-1)-7x-2 oJt}.
2x3 = Tx?* 4+ Tx-2=B(2x- 1)

FAL 2 -1 2 YUY

233 —7x? +7x-2=(2x-1)(x* - 3x + 2)

" B=x*-3x+2




12 TS (98 oo 5 0% e el 12 0 (9, HoAE KA Y
o, f(x)E 2x - 122 Y g2 i} Y 2]=?

1

O % 20 (x)HHA - SR @ E:20(x)YUMA R
® & %Q(x)‘%‘ﬂl] : %R @%: %Q(x)urum 'R
® & %Q(x)b}‘ﬂz] 2R
it | 25 HoFH 2x -1




13.

ok 27 el QA el 48

ol UEtHl= A& Al AAskHe o, y

G| A%

® -2 @ -1 ® 0

L

el g

[N =+

®:

(x +4y)(3x) - (x +y)(x )
= 3x% 4+ 12xy — x% + 2
= 2x% + 12xy +y?2




14. v Z™A AL 2 o Wol? 135

6a
k 4b|
Tt---8g--""
@ 642 - Tab + 2b? @ 36a% — 42ab + 12b?
(@)48(12 — 48ab + 12b* @ 12a? - 12ab + 3b*

® 48a® + 48ab + 12b>

(6a — 3b)(8a — 4b) = 484% — 48ab + 12b>




(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?

R

(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*




